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1.82 % 90% = 4.65 x 30% =

9.07 x 90% = 1.34 % 90% =

4.57 x 60% = 5.74 % 30% =

2.63 x 80% = 3.84 x 80% =

9.5 x 70% = 113 % 90% =

7.87 x 80% = 3.66 % 10% =

7.33 x 30% = 6.6 % 0% =

6.88 x 10% = 4.32 % 50% =

9.43 x 20% = 5.87 x 90% =

9.82 x 50% = 1.01 % 80% =
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1.82 x 90% = 1.638

9.07 x 90% = 8.163

4.57 x 60% = 2.742

2.63 x 80% = 2.104

9.55 x70% = 6.685

7.87 x 80% = 6.296

7.33 x30% = 2.199

6.88 x 10% = 0.688

9.43 x20% = 1.886

9.82 x50% = 4.91

H -

4.65 x 30% = 1.395

1.34 x 90% = 1.206

5.74 x30% = 1.722

3.84 x 80% = 3.072

1.13 x90% = 1.017

3.66 x 10% = 0.366

6.6 X 70% = 4.62

4.32 x 50% = 2.16

5.87 x90% = 5.283

1.01 x 80% = 0.808
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